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Exercise 2.2 )

k Which of the following are algebraic, exponential, logarithmic, trigonometric, inverse
trigonometric, hyperbolic and inverse hyperbolic functions.

3'§,Llaic i) y=x*+5x+6

(i) f(x)=tan"'x Mverse. {‘r'\gbnnme*r} “X

exponential (iii)  y = 2%+ (iv) y=logs(x+2) logarthm

+ gom,me}(;&v) f(x) = 3sin x (vi) y=a""* ex pon ev\{ [ a\.
. x24+5x+7 sin x : ;
alge.bfa\c (vil)  f(x) = 19 (vii)  f(x) = pr ‘\-Y\gOY\ON\Cir\C :
‘ogar'\{‘,m‘c(ix) y = logg sinx (x)  f(x) =coseclyx2—1 "Vefse i Sonomety; .
X .

tri gormdie)  f(x) = tan(sinx) (xii) ¥ =— algebvaic.

\n\zpe,{\oO\{ ((xiii) f(x) = sinhx (xiv) y = Incoshx \ogar] Hawn €
(xv) y=tanh 'x (xvi) y =cos *(Inx) Ry -},g O\ ¥ Qi' fic .
2. Identify, whether the y 1s the explicit or implicit function of independent variable x if:

(i) xy*+5xy+7=0
(iii) yx?+ y?x =3 -5y
X+ 3

x4 45

(V) y=

(.'3 Xa?'+ 5xd+7:0

i) y=3x*-3x+5
iv) x*+xy®=2+3xy

n S 3x3y =5
(v1) y y
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Draw the graph of the following functions:

f(x) = 3log,ox

(1) f(x) = e** (11)
x2 y2
(i) y=vV36—x? (iv) 1_6' '2—5'—
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4. Draw the graph of parametric equations of function
x =at®, y=2at,whena=4and-5<t <5

x= 4t 4= 8t -5 <t < 5
t |-5]4(-3 2|V |o]I |2 [3|4]|35
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Draw the graph of parametric equations of function

x =asecB, y=btanf,whena=3,b=4and-n <0 <m

::-356(9, 4= 4tond -x¢ e
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2
6. Draw the graph of the f(x) = [x xs1

2% x>l
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